MARUYAMA | ILLUSTRATED PARTS LIST

MC-SB

MULTICUTTER ATTACHMENT

MC-SB
MULTICUTTER ATTACHMENT @ Maruyama



| ILLUSTRATED PARTS LIST

MC-SB

4
5 .
28 297 25 26

%\ 6 [ | i I

24




MARUYAMA

COMMERCIAL OUTDOOR POWER EQUIPMENT

Rer #  Parr i DESCRIPTION Q’tv.  NoOTES
1 225959 Gearcase Ass'y 1 _Incl.2-16
2 225960 Gearcase 1 N
3 089884 Boif 1 - M8x10
4 210554 Bearing 1  #608
5 225806 Gear 1
6 215762 Blade Shaft 1
7 212999 Bearing 1 #6001 2RK
8 055185 Snap Ring 1
9 225808 Pinion Gear 1 j

10 210560 Bearing 1 . #609

11 217042 Bearing 1 {6097

12 140269 Snap Ring 1 '

13 140270 Snap Ring 1

14 261246 Cap Screw 1 -M5x25

15 222890 Boss Adapter 1 :

16 221998 Boit 1 . M8x12,Counterclockwise
17 261233 Cap Screw 1 -M5x12

18 216090 Driveshalt 1 '

19 216079 Stopper 1

20 220086 Driveshaft Tube Ass'y 1 .Incl.21,22
21 221501 Label 1 Warning
22 221502 Label 1 Caution
23 225961 Safety Cover 1

24 226062 String Cutter Ass'y 1 Incl.25-28
25 222900 String Cutter 1

26 261233 Cap Screw 2 Mb5x12
27 089901 Spring Washer 2 M5

28 089846 Nut 2 M5

29 225962 Bracket 1

30 225963 Threaded Bracket 1

31 261612 Cap Screw 2 M5x30




Maruyama U.S., Inc.
3570 Shelby Lane
Denton, TX 76207
940-383-7400 voice
940-383-7466 fax

www.maruyama-us.com



